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Q-1(A) What is secondary data? Explain sources of secondary data.

(B) Find Mean, Median and Mode of the following data:

Q I (A) Explain scatter diagram method and give its limitations.

No of accident [ 0-T0 [10-20 | 20-30 ] 30-40 [ 40-50 | 5060 | 60-70
No. of diys 15 1 20 25 F5 16 6
OR

(B} Find Karl Pearson’s correlation coefficient of the following data

[

X148

507541576063

66169 | 72

75

Y {50

35|60 1657075

80| 851 90

95

Q 2 (A) What is Regression? Explain the properties of regression coefficients.

(B) Using following data obtain two regression lines.

n=10 , x =110, Ty = 150, Lx*=1332, %y?=2410 , Yxy =1755

Q 2 (A) What is Index Number? Explain its usefulness.

(B) Calculate Laspeyre’s, Paache’s and Fisher’s index number from the following

data;

OR

Commodity Base Year Current Year
Price(in) { Quantity | Price(in %) | Quantity
A 8 20 9 20
B 10 ) [2 20
C i2 ! 20 1
D 4 3 5 5
E 40 4 50 5
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Q 3 (A) Find seasonal indices of the following data of time series (08)

Year QI Q2] Q3] 04 |
2010 730 640 1 650 670
2011 750 6201 600 640

20120 730 670) 720 710
2003 700 540 600! 660
2014 650| 520| 590| 620

(B) Find trend by 4 yearly moving averages. Also find short term variations for the

ollowing time series data: . (09}
[ Year 2001 [ 2002 {1 2003 | 2004 | 2005 | 2006 2007 | 2008 { 2009 | 2010 [ 2011 | 2012
| Profit(in3) | 406 | 520 [ 936 [573 | 488 596 | 1016 ;638 | 563 [ 677 11080 [ 718
OR
Q 3 (A) Explain the following terms with illustrations (08)

(i) Sample space (ii) Event (iii) Mutually Exclusive events (iv)Union of two events
(B) IT A, B and C are three mutually exclusive and exhaustive events and 2 P(A) = 3P(B)
= 4P(C) find P(BUC). (09

Q 4 (A) Define Binomial, Poison and Normal distribution and give the characteristics of
Normal Distribution ' (09
(B) Ina production of Micro Chips 2% are defective. Find the probability of getting
(1) All non defective Micro chips (2) At the most 2 defective Micro chips in a box

Containing 200 Micro chips. (¢ *=0.0183 ) (09)
OR
Q-4 (A) Explain the assignable causes of variation in production process. (09)
(B)The number of defects observed in 15 computers is given below Draw C chart and state
your report about the control of the process. 09)
ComputerNo [ 1 12 |3 (4] 56718 o[10l 11712713 14 | 15
No.of Defects | 15| 10 | 11/ 8|37 (1213121912t [23|34]|14: 10 11
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N Ql @] Q3] 0

2010 730 640+ 6501 670
2011 750 620 000 640
2012 730 670 T 710
2013 700 540 600 660
2014 650 520 590 | 620 |

(B) o2l wt@s Aell 1 2wz aded uQAd wr2ull 3 e 20El GURid @5t aumiell
diele ugl Ao, _ (09)

o [ 2001 72002 | 2003 | 2004 | 2005 | 2006 [ 2007 | 2008 T 2009 2010 | 2011 ¢ 2012
ogl | 406 | 520 | 936 | 573 488 § 596 | 1016 | 638 | 563 | 677 1089 | 718

gl
Q 3 (A) ool UEL GErs20l ddld AMedl (08)
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(B) % teell A, B el € URau2 Moy e BLily Slal Al 2 P(A) = 3P(B) =4P(C) §lat, <l
P(BUC) Al . (09}
Q 4 (A) (BAUE]L, Wast e Yo Bieteel clvalBld sd, e (AizBtott oetodl woudl. (09)
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